PE CUONG ON TAP HKII KHOI 9

MON PIA 9
1. Ving dong bang song Ciru Long
- Vitridiali
- Dién tich, cac tinh thanh phé
- Pic diém tu nhién, tai nguyén thién nhién
- Dic diém kinh té
2. Phat trién tong hop kinh té va bao vé tai nguyén, mdi trudng bién — ddo.
- Pic diém ving bién VN
- Cac nganh kinh té bién

- Thuyc trang bién

*khkkhkkhkhkkhkkhkkhkkhkkhkhkkikkhkkhkkhkkhkkikkikhkkhkkhkikkikkikikikkhkikkikikikx

MON GDCD

On noi dung cac bai:

- Vi pham phap luéat va trach nhiém phap li

- Nghia vu bao vé To6 Qudc.

-S6ng c6 dao dirc va tuan theo phap luit.

Lwu y: HS hoc thuéc phdn néi dung bai hoc trong vo ghi va SGK. Lam lai

cdc bai tdp ctia nhivng bai dd cé trong dé cwong.
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MON SINH

Cau 1: Néu cac khai niém va dic trung cua quan thé sinh vat. So sanh quan
thé nguoi va cac quan thé sinh vat khac.

Cau 2: Néu khai niém va cac dau hiéu dién hinh caa quan x4 sinh vat.

Cau 3:Phan tich khai niém va dic diém cua hé sinh thai. Lay vi du cu thé vé
chudi thtre an va luédi thie an.

Cau 4: Phan tich cac tac dong caa con ngudi dén méi truong va két qua/hau
qua caa nhiing tac dong do.



CAu 5: Thé nao 13 6 nhiém méi truong? Néu rd nguyén nhan, hau qua va dé
Xuat phuong an giam thiéu & nhiém mai truong.
Cau 6: Bé xuat cac phuong an khoi phuc méi trudng va bao vé da dang hé
sinh thai.

* Luu y: Pé thi gizza ki 11 gom 30 cau hdi trac nghiém — Thoi gian 1am bai: 45 phut
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MON LICH SU

1. Nhitng nim dau caa cudc khang chién toan quéc chdng thuc dan Phap.

2. Tong khai nghia thang Tam nam 1945 va su thanh 1ap nudc Viét Nam dan chi
cong hoa.

3. Budc phét trién méi cia cudc khang chién toan quéc chéng thuc dan Phép.

e e e ek e e ek e e ek ek ek ke
MON NGU VAN

A. Phin vin ban: Vin hoc hién dai Viét Nam

- Mua xuén nho nho - Thanh Hai

- Viéng Ling Béc — Vién Phuong

- Sang thu — Hru Thinh

- Noivai con — Y Phuong

- Nhitngngbisaoxax0i — L& Minh Khué

B. PHAN TIENG VIET

- Kho1i ngir

- Lién két cau va lién két doan van

- Nghia tuong minh va hamy

C. PHAN TAP LAM VAN

- Nghi luan vé mot su viéce, hién tuong, doi séng

- Nghi luan vé mot van dé tu tuong dao li

- Nghi luan vé mot tdc pham truyén hoic doan trich

- Nghi luan vé mét doan tho, bai tho
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MON TOAN

. SO

Dang 1: RGt gon biéu thic

x 2 6
x—9_\/§+3 v Q:m
a. Tinh gia tr1 Q tai x = 121

b. Rut gon P

Bai 1: Cho biéu thuc P =

Q 2Jx+1

c. Tim gid tri clax dé A === 5

d. So sanh A va A?
1-Jx
l+\/;

a. Khi X =6—2/5, tinh gié trj biéu thiic A

15—&+ 2 ) Jx+1
X —25 &+5]'&—5
c. Tim x dé biéu thitc M =B — A nhan gi4 tri nguyén.

X +2 Ixo 3 Jx-3
X+&_2—&+2va8:&_1— x-1
a. Tim BKXD roi rat gon biéu thic A
b. Tim cac gidtrictiax dé B =1

Bai 2: Cho biéu thuc A =

b. Rt gon biéu thuc B = [

Bai 3: Cho hai biéu thirc A =

c. Tim m dé =M c6 nghiém.

x+1 2 IWx-3 . x-+x+1

+ _ vaB=2"2X""-
X =2 Jx+3 x++/x-6 Ix -1

Bai 4:Cho biéu thirc P =

a. Rut gon P
b. Tinh gi4 tri cua biéu thirc P khi x thoa man x° —10X +64 =0
c. CMRkhi A>0thi B>3
Dang 2: Phwong trinh bac hai va quan hé gitra (d), (P)
Bai 1:Cho phuong trinh X* —=2(M+DXx+m—-4=0 (1)
a. Giai phuong trinh véim = 1
b. Chirng minh phuong trinh (1) ¢6 hai nghiém phan biét véi moi m
c. Tim m dé phuong trinh (1) ¢6 hai nghiém duong
d. Tim m dé phuong trinh (1) ¢6 hai nghiém trai dau
e. Chimg minh M =X, (1— X, ) + X, (1— Xl)khéng phu thudc vao m
Bai 2:Cho phuong trinh X +2mx +2m—-1=0 (1)
a. Tim m @€ phuong trinh ¢ hai nghiém X,,X, théa man X, —X, =6

b. V6i X, X, 1a nghiém cua phuong trinh (1)



i. Tim h¢ thuc lién hé gitra hai nghiém khong phu thudc vao m
ii. Tim gia tri 16n nhét cia A =X,"X, +X,’X,
iii. Tim m dé phwong trinh ¢6 2 nghiém trong d6 1 nghiém nhé hon 1.
Bai 3:Cho phuong trinh X* —=3X+m—1=0.
Tim m dé phuong trinh c6 hai nghiém X;, X, thoa man
a. X°+X,°=3 b.2x,—5x,=-8 c. X;° =X, =15 d.
X’ +x,° =11
X

ECRREC I h. X, —X,|>2
X, X 2

e X, —X,|=1  f|x,|+[x,|=2
Bai 4:Cho phuong trinh X* —2(M+1)X +2m+1=0. Tim m d& phuong trinh c6
hai nghiém X,,X, 1a do dai hai canh géc vudng cua tam giac vudng c6 canh huyén
bing /5

Dang 3: Hé phwong trinh bac nhat hai an
Bai 1: Giai hé phuong trinh sau

1 1 1
—_——=—
. IX+3-2y+1=2 C<x y 24
20X +3+y+1=4 2_3
[ 4 9 SO
+ =-1
2x+1 y-1
" 3 2 13 LA S
- =— X—=7 6 3
2x+1 y-1 6 d. v \/y+
5 N 3 _23
Jx-7 \y+6 6

mx —2y =m

Bai 2:Cho h¢ phuong trinh
—2X+y=m+1

a. Giai hé phuong trinh véi m=-2
b. Tim m dé hé pt c6 nghiém (x; y) thoamin X—y=1
.. ) ‘ {x +my=2
Bai 3:Cho hé phuong trinh
—mX+Yy=m
a. Giai hé khim=2
b. Tim cac s6 nguyén m dé cho hé c6 nghiém duy nhét (x; y) véix >0, y <0
c. Tim cac sé nguyén m dé cho hé c6 nghiém duy nhit (x; y) v6i x, y 1a cac sb
nguyén.
Dang 4: Giai bai toan bang cach lap PT - HPT
Bai 1:Tim hai sb tu nhién biét tong cua ching bang 59, hai 1an sé nay bé hon ba 1an
so kia a 7. Tim hai s6 d6.



Bai 2:Hai ngudi 1am chung mot cong viéc thi sau 6 gio xong. Néu mot minh ngudi
thir nhat 1am trong 2 gio, sau d6 mot minh ngudi thi hai 1am trong 3 gio thi hai

NS b 2 Py A 9 = A X Nt hY A N N =A
nguoi lam duogc 3 cong viéc. Hoi néu moi nguoi lam mot minh thi sau bao nhiéu

gio xong cong viéc?
Bai 3:Quing dudng AB dai 270km. Hai 6 t6 khai hanh cling mot luc di tir A dén B,
6 t0 thir nhat chay nhanh hon 6 t6 tht hai 12km/h nén dén trudc 6 t6 tha hai 42
phat. Tinh van tc cia mai xe.
Bai 4:Mot phong hop c6 360 chd ngdi va duoc chia thanh céc day cd sé chd ngdi
bang nhau. Néu thém cho mdi ddy 4 chd ngdi va bét di 3 day thi s chd ngdi trong
phong hop khong doi. Hoi ban dau s6 chd ngdi trong phong dwoc chia thanh bao
nhiéu day?
Bai 5:Mot ca nd xudi dong tir bén song A dén bén sdong B cach nhau 24km, ciing
lac @6 tir A vé B mot chiée bé ntra troi voi van tée dong nudc 1a 4km/h. Khi dén B
ca nd quay lai ngay va gap bé nira tai diém C cach A la 8km. Tinh van téc thuc cua
ca no.
Bai 6: Mot doi xe can chd 350 tan hang. Khi 1am viéc c6 2 xe phai diéu di lam viéc
khac nén mdi xe phai cha thém 20 tan nita mai hét s6 hang can cho. Hoi sé xe lic
dau ctia moi doi?
Bai 7: Hai truong A va B c6 420 hoc sinh thi d6 vao I6p 10 dat ti 1€ 84%. Riéng
truong A c0 ti 1¢ d6 1a 80%, riéng truong B ti 1¢ d6 1a 90%. Tinh sb hoc sinh dy thi
ctia mai trudng
Bai 8:M6t hinh chit nhat c6 chiéu dai hon chiéu rong 5m. Néu cung thém chiéu dai
va chiéu rong 2m thi dién tich 1a 500m?. Tinh chu vi caa hinh chit nhat ban dau?
PHAN HINH HQC
Bai 1: Cho dudng tron (O; R) dudng kinh AB, mot day CD cat duong kinh AB tai
E (E+A,E=B). Mot tiép tuyén d cia dudng tron tai B cat cac ti AC, AD lan
lwot tai M, N

a. Chirng minh: AACB ddng dang voi AABM

b. Chirng minh: AC.AM = AD.AN

c. Tiép tuyén tai diém C cia duong tron cit d tai I. Chirg minh I 13 trung diém
cua MB

d. Hay xac dinh vi tri caa day CD dé AAMN déu.
Bai 2: Cho duong tron (O) va mot diém A nam ngoai duong tron. Tir A ké hai tiép
tuyén AB, AC va céat tuyén AMN véi duong tron (B, C, M, N thudc duong tron va
AM < AN). Goi E 14 trung diém cta day MN, I 1a giao diém thi hai cua duong
thang CE véi duong tron.

a. Ching minh bon diém A, O, E, C cung nam trén mot dudng tron

b. Chirng minh AOC =BIC

c. Ching minh BI // MN

d. Xéc dinh vi tri cat tuyén AMN dé dién tich AAIN 16n nhat



Bai 3:Cho duong tron (O) dudng kinh AB =2R. Goi I 1a diém cb dinh trén doan
OB. biém Ce(0) (CA>CB). Dung d L AB tai I, d cit BC tai E, cit AC tai F.
a. Ching minh A, I, C, E thuéc mgt dudng tron
b. IE.IF=1A.1B
c. Puong tron ngoai tiép ACEF cit AE ¢ N. Chimg minh N e (O; R)
d. Goi K 1a tam dudng tron ngoai tiép AAEF. CMR: Khi C chuyén dong trén
duong tron O thi K luén thuoc mdt duong tron ¢ dinh
Bai 4:Cho duong tron (O; R) duong kinh AB, C 1a diém chinh giira cua cung AB,
E chuyén dong trén doan BC. Nbi AE cit cung BC tai H. N6i BH cit AC tai K. Nbi
KE cit AB tai M.
a. Chirng minh KCEH noi tiép

b. Chirng minh CHK khéng dbi

c. Goi I, J 1a trung diém cta AE, BK. Chirng minh 1J L CM

d. Ching minh khi E chuyén dong trén BC thi tong BE.BC + AE.AH khong d6i.
Bai 5:Cho dudng tron (0), diém A ¢ dinh ¢ ngoai dudng tron (O). Qua A ké cat
tuyén a cat (O) tai 2 diém B va C (B nam giira A va C). Tiép tuyén AM, AN tiép
xuc (O) tai M, N; I 1a trung diém cua BC.

a. Chimg minh AM? = AB.AC

b. Chitng minh tr gidc OMAN va IMAN noi tiép duoc

c. Puong thang qua B song song MA va cit MN tai E. Ching minh IE // MC

d. Khi cat tuyén d quay quanh A thi trong tim G cia AMBC chay trén duong

nao?
Bai 6:Cho duong tron (O; R) va day AB = R, K 1a diém chinh giita cung nho AB
va I 1 trung diém doan thang AB. E 1a diém di dong trén doan B (E khac A va
khac B). Goi F 1a giao diiém thr hai cua KE véi (O). Qua B ké duong thang vuéng
g6c v6i KE, duong thang nay cat KE tai H va cit AF tai M.

a. Ching minh cac dietmK, L, J, B cung nam trén mot duodng tron

b. Chirng minh tich KE.KF c6 gia tri khong phu thudc vao vi tri cua diém E.

c. Néu E 1a diém thoa man BF = R, hdy tinh chu vi tr giac KMFB

d. Xéc dinh vi tri cua diém E d&¢ KMB =75°
Bai 7:Cho duong tron (O) c¢6 duong kinh AB = 2R va diém C thudc duong tron (O)
(C khac A, B). Lay diém D thuoc day BC (D khac B, C). Tia AD cat cung nho BC
tai diém E, tia AC cat tia BE tai diem F.

a. Ching minh FCDE 1a t&r gic noi tiép

b. Chirng minh DA.DE = DB.DC

¢. Ching minh CFD =0OCB

d. Goi I 1 tam dudng tron ngoai tiép t&r giac FCDE, chimg minh IC 1a tiép tuyén

cua duong tron (O).
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MON VAT LY
Thau kinh hoi ty, anh ciia mot vat tao bai thau kinh hoi tu
. Thau kinh phan ki, anh cia mot vat tao bai thau kinh phéan ki.
. Mit.Mit can, mit 130. Kinh lap.
. Sy phan tich anh sang tring.

. Tong két chuong I11. Anh séng.

o o B~ w N e
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MON HOA HOQC

1. Céc cong thire chuyén doi tinh: n, m, V, C%, CM, ty khdi,...

2. Tinh chit héa hoc cua axit cacbonic va mudi cacbonat, silic, so lugc bang
tuan hoan cac nguyén t6 hoa hoc.

3. Tinh chat hoa hoc va diéu ché cua céac hidrocacbon: CH,, CoHa, CoHo,..

4. Tinh chit hoa hoc va diéu ché cua cac dan xuét cua hidrocacbon: C,HsOH,
CH3;COOH.

5. Cac bai tap: 4,5/103; 5/112; 3,4/133; 2,5/143 (Sgk)

kkhkkkhkkhkkkhkkhkhhkhkhhkhhkkhkkikkikhhhkikiikkx

MON CONG NGHE

Cau 1. V& so d6 nguyén ly, so do lip dat cia mach dién 2 cong tic 2 cuc diéu
khién 2 dén. Néu quy trinh lap dat mach dién.

Cau 2. Ké tén, néu cdng dung cta c4c vat cach dién cua lap dat md kiéu noi. So
sanh uu, nhuoc diém cua lp dat kiéu noi, kiéu ngam.

Cau 3. Néu cac budc kiém tra an toan caa mang dién trong nha.

DE THI GOM 30 CAU TRAC NGHIEM
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MON TIENG ANH

1. UNIT 10:

1. Vocabulary: On tip toan bo tir vung cua Unit 10 theo chii dé Space
Travel.

2. Grammar:

- On tap Thi qua khir don va Thi qua khtr hoan thanh.

- Ménh dé quan h¢ xac dinh.
2. UNIT 11:

1. Vocabulary: On tap toan bo tir vung cta Unit 11 theo chu d& Changing
Roles in Society.

2. Grammar:

- On tap cau bi dong o thi tuong lai.

- Ménh dé quan hé khong xac dinh.

4. CAC DANG BAI TAP CAN CHU Y:

Choose the word whose underlined part is pronounced differently from the others.

l.
1. a. meteorite b. satellite c. tiny d. gravity
2. a.planet b. astronaut C. astronomy d. satellite
3. a. landed b. orbited C. excited d. attached
4. a.missions b. telescopes C. rockets d. baths
5. a.moon b. flood c. shampoo d. food
Il. Choose the word that has the stress different from the rest.
1. a.tailor b. vision c. demand d. figure
2. a.content b. hands-on c. virtual d. facilitate
3. a.independent b. curriculum c. externally d. society
4. a.communicator b. interviewer c. evaluator d. facilitator
5. a.consequently b. individual c. breadwinner d. dominated
I11. Choose the best answer a, b, ¢ or d to complete the sentence.
1. Itis predicted that humans will fly to Mars a discovery mission.
a. with b. on c. under d. for
2. There have been no manned missions to the moon’s surface 1972.
a. since b.in c. for d. from
3. Mars might have been between 3.8 and 3.1 billion years ago.
a. habitat b. habitual c. habitable d. habitation
4. Edwin Hubble was the astronomer for the Hubble Space Telescope is named,
a. which b. who c. that d. whom
5. water does not flow in a zero-gravity environment, the astronauts cannot wash their
hands under a faucet.
a. Although b. If c. When d. Since
6. There are now countless orbiting the earth for telecommunications, and other
purposes.
a. spacecrafts b. rockets c. satellites d. telescopes
7. Microgravity is the condition people or objects appear to be weightless.
a. which b. where c. whose d. in which
8. I’'m very careful about what I eat so it’s only I eat fast food.
a. over the moon b. once in a blue moon
c. out of this world d. the sky’s the limit
9. The man sitting next to me on the plane very nervous because he before.



10.

S

e

8.

9.
10.

VI.

a. was - never flew b. had been - didn’t fly
c. had been - hadn’t flown d. was - had never flown

“Do you think we will travel to Mars in 15 years?”

“ But there’s positive signs.”

a. I’m not so sure. b. Sounds interesting!
c. It’s wonderful. d. Yes, why not?

. Choose the best answer a, b, ¢ or d to complete the sentence.

Young women today have jobs, so they are no longer economically dependent
their husbands.

a.in b. from c. with d.on

Education system changes will over the next few years.

a. take place b. take part c. take time d. take control
Online learning platforms are becoming more and more

a. individual-oriented b. individually- orlentlng

c. individually-oriented d. orientedly-individual

The teacher’s role in online learning is mainly that of a .

a. facilitator b. educator c. evaluator d. supporter

My mobile phone, I lost on the train last week, had all my contacts on it.

a. whose b. that c. which d.0

New curricula will to meet the demands of a changing society and in training
teachers.

a. develop b. be developing c. be developed d. have
developed

On my trip last year, | was able to visit some places in a long time.

a. hadn’t seen b. for which I hadn’t seen

c. where hadn’t seen d. I hadn’t seen

There’s going to be a new principal in September, is good. It’s time for a change.
a. that b. which c. who d. when

Many schools and teachers have curriculum and teaching methods to meet the
needs of students.

a. applied b. tailored c. evaluated d. oriented

. “Ireally think online study is much more beneficial than classroom study.”

(13

Face-to-face is always the better way of learning.”
a. [ don’t think so. b. I couldn’t agree more.
c. Yes, | suppose so. c. Well, you may be right.

Write the correct form or tense of the verbs in brackets.

Helen Sharman (send) to the Mir space station in May 1991.

A total of six US missions (land) men on the lunar surface by the end of 1972.

Yuri Gagarin (become) the first person in space when he (orbit) the Earth
in a VVostok spacecraft on April 12,1961.

SpaceX (send) three tourists on a 10-day trip to the ISS sometime in late 2021.
While she (work) last week, the astronaut (realize) that she

(need) a medium-size suit for spacewalking.
(you/ ever/ wonder) what it would be like to live on the moon?

In 22 years, Columbia (fly) 27 space flights before disaster (strike) on the
28th mission.

NASA announced that it (open) the International Space Station to private
individuals as soon as next year.

Apollo 11 was the first manned mission (land) on the Moon.

The centripetal force keeps the planets (move) in their orbits.

Write the correct form of the words in brackets.



1. Digital technology can never be the teacher of the future but it will be the teacher’s

. (assist)

2.  Women are more independent than ever before. (finance)

3. A patriarchal society places men as the figures, with more power over the women
and children. (dominate)

4. The use of melatonin to treat insomnia in cancer patients is under . (evaluate)

5. The wonders of modern technology have women from the household Burdens.
(freedom)

6. Schools must develop policies to support and maintain student . (attend)

7. Hong Kong is an externally- economy and pursues a free trade policy. (orient)

8. Technology is enabling us to be more to change as it happens. (respond)

9. The of women in education and employment is a big change in our Society.
(involve)

10. There is inadequate childcare provision and many women who wish to work are
unable to do so. (consequence)

11. Gender refers to unequal treatment or perceptions of individuals based on their
gender. (equal)

12. An ideal job interview will give the the opportunity to learn about the Company.
(interview)

VI11.Choose the correct answers to complete the passage.
Can E-learning replace the traditional classroom?

E-learning is a form of learning, using electronic means, primarily e-mail and the Internet.
The teacher’s role in online learning is mainly that of a (1) . There is less direct teacher-
to-student interaction than (2) found in the classroom. Learning is largely (4) ,
and the student bears more individual responsibility to manage time and complete tasks within
the given time frame. (4) , some students learn less effectively through this method and
do not have the required self-discipline to learn via the Internet.

Although E-learning provides a (5) of advantages for users, significant
disadvantages also exist for students. Additionally, the effectiveness of E-learning also (6)

based on an individual’s learning style and behavior type. Further, their learning styles

may differ, and they may not be able to comprehend the given information (7) further
explanation from a teacher. E-learning does not have a way of ensuring (8) the students
are really learning the material. E-learning also does not accommodate the different learning
styles (9) the students. Not all students are self-motivated and self-determined to handle
online courses. Therefore, as suggested by a private Master of Computer Application’s college,
E-learning (10) be able to completely replace the traditional classroom.

1. a. contributor b. instructor c. facilitator d. performer

2. a.normally b. entirely c. heavily d. hardly

3. a. self-oriented b. self-absorbed c. self-motivated d. self-controlled
4. a. Consequently b. Moreover c. Therefore d. However

5. a. majority b. number c. couple d. bit

6. a. fluctuates b. evaluates c. involves d. acquires

7. a. with b. without c. about d.on

8. a.which b. what c. whose d. that

9. a.for b. to c. of d. towards

10. a. will b. shan’t c.can’t d. may not

V1l.Read the text carefully, then decide whether the statements are true (T) or false (F)and
choose the correct answers.
The International Space Station (ISS) is the largest structure humans have ever put into
space. This gigantic satellite is used both as a laboratory for new technologies and an observation
platform for astronomical, environmental, and geological research. It is a permanently occupied

10



outpost in outer space, and it is considered to be an important stepping-stone for further space
exploration.

The space station flies at an average altitude of 400 kilometers above the Earth and it circles
the globe every 90 minutes at a speed of about 28,000 kilometers per hour, which means that in
just one day, the station travels about the distance it would take from Earth to the moon and
back. It also means that astronauts on board the ISS get to see a sunrise every one and a half
hour.

Five different space agencies representing 15 countries built the International Space Station
for no less than 100 billion dollars. The primary partners on the project are NASA, Russia’s
Roscosmos State Corporation for Space Activities, the European Space Agency, the Canadian
Space Agency and the Japan Aerospace Exploration Agency.

The International Space Station was taken into space piece-by-piece, which means that
consists of modules and connecting nodes that contain living quarters and laboratories powered
by solar panels. The first module, the Russia Zarya, was launched in 1998. Since then, a number
of different modules have been added, extending the ISS one piece at a time. The space station
spans the area of a U.S. football field and weighs 391,000 kilograms. The complex now has
more living space than a conventional five-bedroom house and has two bathrooms and gym
facilities and a 360-degree bay window. Astronauts have also compared the space station’s living
space to the cabin of a Boeing 747 jumbo jet.

1.  What does the passage mainly discuss?
a. The functions of the ISS b. The launch and structure of the ISS
c. The origin of the ISS d. General information about the ISS
2. In one day, the station travels
a. approximately the distance it would take from Earth to the moon
b. twice the distance it would take from Earth to the moon
c. exactly the distance it would take from Earth to the moon
d. less than the distance it would take from Earth to the moon
3. What does the phrase “stepping-stone” in the first paragraph mean?
a. piece of rock b. way of success . means of progress d. step
forward
4. According to the passage, the International Space Station
a. is a joint project between five participating space agencies
b. is worth less than $100 billion
c. was built by astronauts from 15 different countries
d. is primarily operated by the United State (NASA)
5. All the following statements are true EXCEPT
a. The ISS was constructed and assembled module by module
b. The construction of the ISS was started in 1998.
c. The ISS has the volume of a five-bedroom house.
d. The ISS is around the size of a Boeing 747 plane.

GOOD LUCK
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